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NOTE: Write answers to the questions an
each question are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of

each question with Marker or pen ink on the answer sheet provided.

1.1. Which hormone falls the blood gluccse concentration? feu L"j?f—ﬁ %ﬂif?*fz;wgul A1
(A) Glucagon ' ¥¥  (B) Insulin o=r (C) Thyroxin ¢~ LU (D) Oxytocin HsT

2 The skeleton of aduit human has the number of hard bones: e GmuﬁJug;}h:}piuLilag_g 2

(A) 200 (B) 196 (C) 206 (D) 201

3. Male reproductive part of flower is called: SRR S LA

¥

Calyx K (D) Corolia Us/

(%4

(A) Androecium vkl (B) gynoeclum (56 (©) 3

4 The number of hydrogen bonds between Adenine and Thymine is. :cl_sfﬁ-ﬁ:g;f-:,jggul_/,-x_’.u:"*;u;lufgu'? 4
(A) 1 (B) 2 (€) 3 D) 4

5. Blood groups are a good example of variation: AR S A

(A) Complete Dominance Jf"";}u"“ (B) Incomplete Dominance J*a";}-v-"‘ct
(C) Continuous variations ..-‘.F,?‘J‘V (D) Discontinuous variations .:,:',::"U"I'frf

6. The primary source of energy for all ecosystems is: :4_41,5Ji§i(djr¢’f‘jfr(u“ 8
(B) Moon #b (C) Generator 7 (D) Electric J}g!

(A) Sun Lo
"-'L/,?LfCJ!UL*/JujV[&Pgl 7

7 \Which is the example of Ectoparasites?

(A) Plasmodium /»3:‘;-15 (B) Ascaris ;,r/_-*r"? (C) Mosquitoes /’f (D) Bacteria | =%
‘e pf::,;dffspé*'pr}(c_ A SIONIN:

8 Which of the following is an anti-viral Protein?

{(A) Thymosin w»dF  (B) Interferons T rd (C) Insulin o (D) Urokinase E6

9. The drugs which inhibit or kill the bacteria within or on the body are: :-,:.-*.-,gul._Efsé_;t.xaf»,f',_,-_‘?ﬁ;f"}yxlf.(? ;
4 $ (C) Sedatves Jii (D) Vacoines oty

(A) Analgesics Ul (B) Antibiotics
f}L,)C”JJJ"{:!‘d/t"_:’rg)jb;:’}i/—i_f?b]’&:‘}&ubvbt{L',’l/"-’ A0

10. Human's breatne rate per minute in normal

circumtances i.e at rest is;
(B) .\ 18-22 times (C) .\ 22-26 times (D} .\ 28-30 times
£

(A) si 16-20 times
L,C."j-‘;MEJ'/?'UJ'\;U:j}IA_}%%.idt;.‘{' A1

11. Plants having broad leaves with a large number of stomata on their

- 2 - 4 Z »
upper surface are called: ol s (b

(B} Xerophytes (bszi

(A) Halophytes o6
(B) Mesophytes -.,-:Li,-,z

(C) Hydrophytes 644

12. The part of Hindbrain that co-ordinates muscle movements is! :_LL”MT..;_ Ea?/;ug"T(’-;::lgu,f.: K]J’)Vﬁ.ﬂ?ub/u: 2% A2

(A) Medulla Oblongata Lafit;n!:s:g (B) Pons 7

(D) Cerebelum (‘-“"A'
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Biology (essay Type) Group-I (For all sessions)

Time: 1:45 Hours Marks: 48
Section-I
2- Write short answers of any five part from the following. 2x5=10
i. What is arteriosclerosis? ii.  Write twe bad effects of smoking.
ii. Define co-ordinators and give an example. iv. Define osmoregulation.

V. What is paralysis?Write its one cause. vi. Define Deafness and write iis one cause.

vil. What is difference between Glomerulus anc Boman capsule?
viii. What is pneumonia?Which bacteria causes pneumonia?

3- Write short answers of any five part from the following. 2x5=10
i. Differentiate between chondrocytes and osteocytes. ii. Define extensor muscle.
ii. Define Law of independent assortment. iv. Differentiate between breeds and cultivers.
v. Define incomplete dominance. vi. What is the theory of special creation?
vil. How does vegetative propagation take place in Bryophyllum? :
vili. Write two disadvantages of vegetative propagation. f
4- Write short answers of any five part from the following. 2x5=10
i. What is Feod Chain? il What is meant by pyramids of number?
iii. Define secondary consumers with an example, iv. What is atmospheric nitrogen fixation?

v. What are cephalosporins? vi. Write down the function of antibodies.
vii. Write down the application of fermentation in beverage products.
viii. What is meant by expression of genes of interest?

Section -11 9x2=18
Nete: Answer any two questions from the following.
5. {a) Write a note on Kidney stones (b} Explain the components of coordination action.

6. {a) What is arthritis?Describe its different types. (b} Write down the definition results and steps to control overpopulation
7. (a) Write eight achievements of genetic engineering. {b) Write 2 note on antibiotics resistance.
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
guestion with Marker or pen ink on the answer sheet providad,

1.1. The number of chromosomes in human body cells :.T_;JK_:!»T;{?ry‘;/Vf/"’f{;,/'éw 1.1
is___ pairs:
(A) 22 (B} 23 (C) 24 {D) 25
2. Cytosine always form hydrogen bond with: e &L}.;@oﬂuéﬁ’r eyl 2

(A) Thymine < ¢2d¥ (B) Guanine <Y (C) Adenine =t (D) Protein = ehay

3. The pH range of acidic rain is: ;‘LpHJﬁ;‘,L‘;r}; 3
(A) 1-3 (B) 24 (C) 36 (D} 5-8
4. Animals can not take Nitrogenous compound from; igféu.:‘)‘:.jfg{@gﬁ/b;i? 4
(A) animals s sl (B) Fungi ¢ (€} Virus U (D) Plants Uy
5. The complete map of human genome was published in: :L;rxé[;,tﬁvﬁ‘%gfz,;@r 5
{A) 2002 A.D (B) :2003 A.D (C) 2004 AD (D) +2005AD
6. Diazepam is the example of a type of drug: i J@L,ff__c_i&;_,&,_,:ﬂ-j;:j 6
(A) Analgesics .,,f-“gju*'-"r (B) Sedatives i i~ (C) Antibiotics ;_,rff;-_?i (D) Vaccines o+
7. Many chemicals in smoke increase the production _;:“;T,J'FJ_/.&;;-’;J,_)‘?::-_/»L RSP T
of ___ blood cells: whes)
(A) White 75 (B) Red 4. (C) Platelets (*:l (D) Osteocytesc-isds
8. The weight of human kidney is about: :L;/ﬁrro-J;t’,;fJLil 8
(A) ¢t/ 110 gm B) . 120 gm (©) ~.7130 gm (D) (/140 gm
9. How many pairs of spinal nerves arise along spinal cord? ?L;_?E?z_*iﬁé:é.’.s)f}; ;‘;KJ’} 9
(A) 28 (B) 29 {C} 30 (D) 31
10. The smallest bone of human body is: :‘T_déd,{gqt{[ﬁgu; 10
(A) Stapes ¥ (B) Malleus U= ©) incus (D) Pinna & “
11. The skeleton of aduit human has the number of hard bones: 2 &“ﬂ;rﬁufb'g%;?&uu;é@_g 11
(A) 196 (B) 200 (C) 206 (D) 210
12. The female reproductive part of flower is called: % rwf;;g,g'}”;w,{ 12
(A) Calyx U—?“-' (B) Corolla 1+ (C) Androecium (:AU.;J (D) Gynoecium (fidf
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.BiOIOgy(Essay Type)  Group-1 (For all sessions)

Time: 1:45 Hours Marks: 48

Section-1
2. Write short answers of any five part from the following.
i Define Aerobic respiration. il.

2x5=10
What is meant by gaseous exchange?

ii. Write two functions of human skin. iv. Define Nephrone.
v. How is brain protected? vi. Define stimulus and give an example.
vii. What is difference between acute and chronic bronchitis?
viii What is difference between endocrine and exocrine glands?
2x5=10

3. Write short answers of any five part from the following.
i. Define flexer muscle. i. Whatis gout?
iii. Define regeneration. iv. What are endospores?
v Write the name of book written by Darwin. vi. Define natural selection.
vii. Define continuous variations and give an example. vii. What are traits?

4- Write short answers of any five part from the following. 2x5=10
i Define decomposers with an example i, What is meant by Lactic acid fermentation?
i Differentiate between vaccine and vaccination. iv. Why is single celi protein gaining popularity?

v. Define drug vi. Why is carbon cycle calied a perfect cycie?

vii. Differentiate between secondary and tertiary consumers
viii. How storage and expenditure of energy occur in ecosystem?
Section -II 9x2=18

Note: Answer any two questions from the following.

5. (a) What is meant by kidney stone?Write its causes, symptoms and treatment.
(b) Write a note on peripheral nervous system.

8. (a) Define joint and describe its types on the basis of degree of motion.

{b) Describe common methods of artificial vegetative propagation.

7. {a) Write any four objectives of genetic engineenng. (b) Write a note on mode of action of vaccines.
36-10-A-18000




